EAGRAROBREERT — 2 N— ABISH —F

2020518198 (H) 19m{£E2H

IGBC1—8# C1 ¥5%4mL B R
[AE4£] 1% :280,000 " ~ 23%&:84,000H”  33%&:28,000M . 43%&:17,000MH . 57%&:11,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
NS N ilmEo] :23. —4-2- . — AB®Y (5E)
i sl a—rayz i 4 an 1(2_3)2 4-4-2-1 | 37.5 1 <4+726) b =]
I ATA—H— B74—<7y XL KA
S sy 2 HFYEA :23. —6-8- . — IEEA (&)
2 o | ANE=V vy T 70 50 152%6 6085 |91 ? g; HEEE
L:xF1=Jy7—Z BIXMINTU—> TATHHS
WX RS B4 | Bt 1:23.6 5-5-5-4 | 37.6| — 5 450 | EIDIEX (1£E)
3 3| YIYIKRY 4.0 (7€) (g |EBFRE
L:HISIFULL BiIARI— SEH EE
2 o 4t 5 | AEER—E 1:24.0 1-1-1-2 [38.7| — 4 418 | IIEEEF (1EH)
418[10| S AN 54.0 (@) (1) | At
L:ANXRZATNG B:LT4+—AvI7T7+—FK =Rl %%
_ PN HEAE 124, -3-3- . - FEBT (£8)
5 6 TATy T v * 6 A51.0 1(32/‘2; $333 1383 8 (4_742) O -
R:Tv IRy b BT Ty TE14Y =litie)
== ITaE 124, —9-6- . — AB®Y (58)
6l7/g|AV21—FE>TF> IR T Ee e % ’ (ﬁ) MEERE
RL:ZARN—3I>Fh—L B:EVYICYIIL Fiif  HEER
— o EBEZ 124. ~7-7- . - TFILES (EE)
71811 H=—yzR~NYT R o7 5?:;3.0 1(224>7 7-7-7-8 | 38.5 6 (4_872) i34 "
:vQ7% BY=Z-I5vvY HAHHTT 7 — L4
SESTRYE 4 5 | HFHE 1:24.8 9-8-9-9 [38.5| — 9 462 | WWHEBEA (£5)
855 AR 56.0 (1/2) (+5) BRER
L:—FHT59> B h—/ILIVIL NE KiE
— #o4 | AEF 1:25.1 2-2-4-6 |39.4| — 1| 403 | ALkt (£8)
9|7|9|=F"4 54.0 (1172 ) | ) A
L:H I NT—K BT7aY/FINY RERYUS
g i 5 | TER 1:25.4 10-10-11-11{ 38.1 | — 10 | 399 |WHFEA (ER)
10[1]1| /= b 54.0 (11/2) Oy |mEER
274 d—IV K B:aAXEXNI EviLy RITr7—L4
. = t o4 | REEZ 1:25.5 11-11-10-10{ 38.3 | — 7 475 | FBEF (1£8)
1 4 vt/ XTAHR % 56.0 (1/2) 1) BiEET] -
RL:boHFsa—U— B:U LAY fiE  ERA
® 1 —F—EBIERL
13=7r= 10,9,6,7,3,2,11,8,5,1,4
2ol=7r= 10,9,6,7,3,2,11,5,8,1,4
BEE 10,7,6,9,3,8,11,2,5,4 1
40 —F— 7,10,6,3,2,9,8,11,5,4,1
[ N3
BB 7 110 714K 2-7 200M e 2-6 360M 3JEHE 2-3-7 950M
8 B 7 1004 3-7 250M B = 2-7 420M K31 7-2-3 1,890M
2 1309 2-3 480M B H 7-2 370
3 180F4

ARICOVWTRDTEEERROODE. TR LI,




